https://lwww.leads4pass.com/101.html

LeadB 4 Pass 2024 Latest leads4pass 101 PDF and VCE dumps Download

1010%As

Application Delivery Fundamentals

Pass F5 101 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/101.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by F5 Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

101 VCE Dumps | 101 Exam Questions | 101 Braindumps 1/3


https://www.leads4pass.com/101.html
https://www.leads4pass.com/101.html
https://www.leads4pass.com/101.html

https://lwww.leads4pass.com/101.html
2024 Latest leads4pass 101 PDF and VCE dumps Download

QUESTION 1

What does the HTTP status code 404 mean?
A. Not Acceptable

B. Forbidden

C. Request Timeout

D. Not found

Correct Answer: D

QUESTION 2

Without creating a user defined region, what is the most specific group a topology record can identify?
A. city

B. country

C. continent

D. state/province

E. region of country

Correct Answer: D

QUESTION 3

CORRECT TEXT The layer 3 security feature Cookies that protects against SYN floods, DoS, and DDoS
attacks. (Fill in)

Correct Answer: contain / include

QUESTION 4
Which of the following statements are correct regarding positive and negative security models?
(Choose two.)

A. Positive security model allows all transactions by default.
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B. Negative security model denies all transactions by default.
C. Negative security model allows all transactions by default and rejects only transactions that contain attacks.

D. Positive security mode | denies all transactions by default and uses rules that allow only those transactions that are
considered safe and valid.

Correct Answer: CD

QUESTION 5

An administrator is given the IP Address of 192.168.100.124 and needs 64 subnets. How many hosts per network are
allowed?

A. 4
B.8
C.6
D.2

Correct Answer: D
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